
 
e.54 

 i.45 
 e.47 

 
i.54 

 160 

Pipe N°1170
Cod.3015206201 

Aluminium spacer 
Cod. 205090

Aluminium spacer
25x 8.5x h7 

Cod. 204676

Short helical spring
tensile 
Cod.303949001

Knurled collar nut M8
Cod.200298

Knurled collar nut M6
Cod.200333

Allen screw M8X30 
T.C.E.I. 
Cod.202491

Allen screw M6X25 
T.C.E.I 
Cod.200586

Alluminium bracket
Black painted 
Cod.0815206001

ART. 15206

DUCATI SCRAMBLER 800 ICON / CLASSIC / CAFE RACER / 
CLASSIC / FULL THROTTLE / ICON (also fits 35kW version)- 
DUCATI MONSTER 797 (also fits 35kW version)

SLIP-ON - LV-10 -STAINLESS STEEL

 
10

4 
LV-10 silencer RHS
 Stainless steel
Cod.309746481


	DT-15206
	Vista del disegno1
	Vista del disegno13


